Physics 2200 Midterm I Oct 8, 2015

Answer the questions in the space provided. If you run out of space, continue on the back of
the page.

Name: A.NQM
Date: lO/G![é [1O+¢ =1 €

Question: 1 2 3 4 5 6 7 Total
Points: 3 5 4 5 10 10 8 45

Score:

Multiple choice questions.

For each of the following questions or statements, circle the letter correwsponding to one response
that best answers the question or completes the statement.

1. (3 points) Which of the following is not a keyword in C?
A. while
B. if
C. double
. struct
2. (5 points) Which of the following commands will list files in the subdirectory called *data’ (no
quotes in the name) of your current working directory?
A. 1s /data
C. Is../data
D. dir data
E. dir /data

Page 1 of 5



Physics 2200 Midterm I Oct 8, 2015

etory into a Git

4. (5 points) Which of the code fragments below will produce identical output?

1.

| int x = 0, i; Piwts ohe Value
2

3 for (i = 0; 1 < 1; i++) 0

4 {

5 i b (AU CIN TR o)

6 }

2.

| int x = 0, i = 0; prixts ona (mlue
2

3 while (i < 1)

4 { 0

5 printf ("%d\n", x);

6 e kg

7 }

3.

1 int x = 0; Eirst P'ﬁv&,-);&o.v\ meze ment
2

3 ocainizie - (WSeN\al, b)) g 0

4,

1 int x = 0;

2

3 while (x < 1)
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{ Firat he2e wout, 2 low P'Li nt
printf ("$d\n", ++x); l
}
A. only 1 and 2
B. only 3 and 4

C. only 1,2, and 3

D. only 2, 3, and 4

E. all code fragments produce identical output

Local and global variables

5.

O e N v AW N -

Describe exactly but briefly what is the output of the program.

#include <stdio.h>

int

int

{

int

EaRS(E N EEE N ERVIRRI N )

main (void)

int x = 2, vy =2, z = 2;

R R Em A RN RE S [ S PR AN S s S ) e

Z 1 T (3 R 74 e 21‘-9

joseatiovess . (( Miewtisl 284 Sxelid el BNl 5% 7 62

return (0);

BuniEn BN N ERy SN €87

-2 ] lecal 2o Sun
: e % uqia\neﬁzs, vet wigifle

i ol =3
PG EE(lfunt: el el B NIV i F AT oA

return (x + y + z); & \-—(’,%UL\N\S S
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(@) (1 point) The first printf statement in the main program:
mainly 2 2 2
(b) (3 points) The printf statement in the function fun:

guv\‘. 3 3 3

(c) (6 points) The second printf statement in the main program:
maiml, 2 29

Arrays and pointers

6. Describe exactly but briefly what is the output of the program.

#include <stdio.h>
#define ND 3
int fun (int *z);

int main (void)
{ - Q% ka
int a[ND], z; <= Q['&] st ou;:8 iu%ebﬁ?’

L &0 Digasalt e il
1 a0l = 2, allll = 2, &a[2] = 25

o 0 N u AW [

13 printf ("main 1: %d %d %d\n", a[0], al[l]l, al2]);

14 7S ) () 4— 2=

15 printf ("main@: Sel &el L Sel L Sse\mW, e iyt el s all2] o z) g

i R should

1 return (0); da "ma 2"

18}

19 2101=2 Z iw gu\/\

» int fun (int xz) &~ UPECK entrance 2Eil=2

z (z[0]) ++; 2]0]=3 = (ale1=3)

23 ZA[BIS]RE: =08 2-5:' =__3 -9 a£.>:3
2 ++(z[2]); i[l%:z r )
25 joEimeic (Vifua s Fel Bl SelN\mY, w0 o m (L], =221 )9

2]12]=2 ahpay
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. return (z[0] + z[1] + z[2]); <~ returnd 9O
%} :

(a) (1 point) The first printf statement in the main program:

Phaiwle 2 2 2

(b) (3 points) The printf statement in the function fun:

guwg R N

(c) (6 points) The second printf statement in the main program:
™Maiwn P 3 > 3 9

Reading C code

7. (8 points) Consider the code below.

#include <stdio.h>
int main (wvoid)

alygiet sl gig

7 for! (1 = 0; 1< 4; it+)
‘ES { - \ ‘): b eé
hepast A e e P«u\,}cg R asteusks Oh owe Kiuwe
cuz tywed rintf (""); A qoes 2o
au es
) ¥ printf ("ram;  adds 42l asdertsus Cove
12 }
13
14 return 0;
15}
How many asterisks does this code prints in total? [ 6
How many lines of asterisks is printed? l/
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